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B (£ 426 365 319 254 192 97 81 56 49 44
£ (EETEED 13 10 10 1 5 3 3 1
% (F=8) 23 19 19 16 12 3 3 3
LB 17 16 14 1 6 2 2 2
EHREELL 2 2 2 2 2 1 1 1
REEET 18 16 16 15 11 8 3 3
REL 18 16 16 12 12 8 1 6
TR (E#H) 1 1 1 3 3 2 2 2
BE (k) 1 6 5 3 3 2 2 1
EEEE (LR 1 1 1 0 0 0 0 0
BEER (L) 2 2 2 2 1 0 0 0
RiEEZE (L) 5 5 4 2 2 1 1 0
HE (B 11 b8 42 25 23 15 15 8
B (B [3t] 53 33 31 16 13 4 4 4
B (TUAIL) [#] 2 2 2 2 2 1 1
BE (—HREEL) (3] 0 0 0 0 0 0 0
2@t (9 AEME) 1 1 1 1 1 0 0 0
REEET (9 AENE) 4 4 4 4 4 3 3 3
TR (E#) (9 A=) 3 2 2 0 0 0 0 0
BE (E#) (9 AZEMK) 2 2 2 2 2 1 1 1
BEER (L&) (9 AEMR) 0 0 0 0 0 0 0 0
BEER (LK) (9 AEMR) 0 0 0 0 0 0 0 0
RiEdEE (L) (9 AEE) 2 1 1 0 0 0 0 0
JEBE (FDER) 36 29 24 20 17 1 5 3
BE (—#EEL) [(#] (9 AEME) 0 0 0 0 0 0 0
RIEEF (108 3EHE) 4 4 3 3 1 0 0 0
TR (E#) (108 =EHE) 4 3 3 2 2 1 1 0
EE (L) (10A=EE) 0 0 0 0 0 0 0 0
BEER (L&) (10AXEMR) 1 1 0 0 0 0 0 0
BEES (L&) (0AEMR) 1 1 0 0 0 0 0 0
BE (—#EEL) [(#] (0AXEME) 0 0 0 0 0 0 0
& H) 729 604 530 398 314 160 81 56 103 83




